PF/WPFSeries

Precision Planetary Gear Boxes

il ) =]

We make products devoutly, we hope you recognize our sincere and rigorous approach frem sach
product and we will have confidence sach other., We always seek to satisfy our customers.

BEfLUENOSEMNERS, ERANES -GS, CEERMBRMAORENAN,. LRt ENIAMRE. EAHWE
BANAEMER.



Notes of product ordering

WEME AT N

&

PF series

Precision Planetary Gear Boxes

Rotio/i& i Lt i=3:1~10,000:1
Backlash/[E] 12 & Bg Up to < 3 arcmin
Output torque/E4E Up t016,000N.m

Frame size/t#%Z5% PF40~PF420

ordering code 5] & X A%/BYSRIF 51 A

PF 90 - 32 P2 S2 OP2(MOTOR)
MODEL SIZE Ratioi JBUEEL i: Backlash Output type Input type
RIRH R 1-stage/1—4k: Hh R BNREES R

40, 60 3.4.5.6.8.10 Po: iBHEE 2; SEaR :t"ﬂ e OP 2: Motor mounting
- _4p. e : shaft with key .
901> 2 Sgta$§/215ﬂ16 18 Pi: 5% S3. splined shaft & BiiEE
140. 160 N N N N N a 2 N X ] n%ﬂ%ﬁm%
50.94.25.30.32 P fEH K1: Hollow shaft 7L (SMERAREE )
215, 265 ‘4 ’4 . 4‘106 e K2: Hollow with key EEs#7L iR, GRS
315, 360 Eals f‘_e ) K3: SWopline hollow 7Z8##FL Y E T 5
ot 3—%39223—7»3-80 o T: Special require  FFHHER R+t
100 .120.144.150. OP 3: Case mounting i& #4582 2 fit _
160.180. 200. 240. OP 4: Foot mounting & EE4: AL OP1: shaft mounting
256.288.320.384. Standard connection if no mark HhERE
512, 600, 800, 1,000 T BB SR B E AT 2
W P F ]
Precision Planetary Gear Boxes
Rotio/i& iz Lt i=3:1~10,000:1
Backlash/[E] 2 & B Up to < 5 arcmin
Output torque/E4E Up t016,000N.m
Frame size/#845% WPF40~WPF420
ordering code 7] & X%/ SRR 171 AR
WPF 90 - 32 P2 S2 OP2(MOTOR)
MODEL SIZE Ratioi JBZELL i: Backlash Output type Input type
RIS M 1-stage/1-4: L. TR HEEAR
40. 60 3.4.5.6.8.10 Po: iBHEE g; Sﬂan j'tlfﬁ e OP 2: Motor mounting
- 45 o : shart wi ey Eij S ol v 4
90. 115 2 §a1g2e/215'&16 18 P1: 5% S3: splined shaft i EE%JE& _
140, 160 e . | K1: Hollow shaft 7L (SMEAREE ) s S R
20.24.25.30.32. | |P2: 2% : s
215, 265 36.40.48.64. 1 K2: Hollow with key ES&7L mahd, RAEELSR
T AT T K3: SWpline hollow £l o5 T i
. 3-stage/3-#k: T: Special require FAPHZRER R~
420 60.64.72.80. 90,

100.120.144.150.
160.180. 200. 240,
256.288.320. 384,
512, 600. 800. 1,000

OP 3: Case mounting i3 34 8% S it
OP 4: Foot mounting Ji EEZE AL
Standard connection if no mark

AEE B R SOR B R B A B

OP 1: shaft mounting

s

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will

have confidence each other. We always seek to satisfy our customers.

EERHBRMMRERER, FETEEENEE. BHREREMKEMIER,

B EHMEESER, FEERT—EEmR,

&€ 16




]
& -

PF/WPF series precision planetary gear boxes technical data a’

& PF/WPFRJIHFHTEREHIEESH

Type Stage
S T S S AR S AT
31 17 28 85 115 210 400
! 41 20 44 120 260 450 800
= 51 18 40 110 230 400 700
? 6:1 25 75 200 260 650
B gy 6 18 50 120 210 450
10:1 15 32 100 130 305
9:1 17 28 85 125 210 400
12:1 20 44 120 260 450 800
15:1 18 40 110 230 400 700
16:1 20 44 120 260 450 800
, 2o 20 44 120 260 450 800
L 25 18 40 110 230 400 700
E 0 40 110 230 260 700

*Lnié (0]

S EZQ 32:1 20 44 120 260 450 800
E 36:1 25 75 200 260 650
FIH': 40:1 20 40 110 230 400 700
& 48:1 25 75 200 260 650
K 50:1 18 40 110 230 300 700
% 64:1 6 18 50 120 210 450
S | Nm 100:1 15 32 100 130 305
5 60:1 20 44 120 260 450 800
3 64:1 20 44 120 260 450 800
o 75:1 18 40 110 230 400 700
E 80:1 20 44 120 260 450 800
< 90:1 18 40 110 230 400 700
100:1 20 44 120 260 450 800
120:1 20 40 120 260 450 800
5 12501 18 40 110 230 400 700
s 150:1 18 40 110 230 400 700
S 16011 20 44 120 120 450 800
?& 180:1 18 40 110 110 400 700
200:1 18 40 110 230 400 700
240:1 18 40 110 230 400 700
256:1 20 44 120 260 450 800
320:1 18 40 110 230 400 700
384:1 16 25 75 200 260 650
512:1 6 18 50 120 210 450
600:1 25 75 200 260 650
800:1 18 50 120 210 450
1,000:1 15 32 100 130 400

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will
(‘g; 1 7 have confidence each other. We always seek to satisfy our customers. EAUNEHRNEEFEER, #EEBE—EER,
= FEERHBRMNEEEEN, FHBTEHEENGEE. EHRERRMKIERNEX,




PF/WPF RIIFERTRRIRIEMHRESH

Type Stage
PR  (SR AR S SR,
] 4:1 1,780 3,700 6,400 10,000
= 5:1 1,600 3,100 5,500 8,800
(‘? 6:1 1,000 2,100 4,500 7,500
B 8:1 950 1,700 3,200 5,000
16:1 1,000 3,700 6,400 10,000
20:1 1,780 3,700 6,400 10,000
2 25:1 1,600 3,100 5,500 8,800
o 30:1 1,600 3,100 5,500 8,800
% 32:1 1,780 3,700 6,400 10,000
é 36:1 1,000 2,100 4,500 7,500
40:1 1,600 3,100 5,500 8,800
48:1 1,000 2,100 4,500 7,500
64:1 1,000 1,700 3,200 5,000
w 64:1 1,780 3,700 6,400 10,000
H 80:1 1,780 3,700 6,400 10,000
% 100:1 1,780 3,700 6,400 10,000
!{R% 120:1 1,780 3,700 6,400 10,000
. 5 125:1 1,600 3,100 5,500 8,800
~ ! 150:1 1,600 3,100 5,500 8,800
%). 3 160:1 1,780 3,700 6,400 10,000
|§ Nm- 3 180:1 1,600 3,100 5,500 8,800
E] = 200:1 1,600 3,700 6,400 10,000
3 240:1 1,600 3,100 5,500 8,800
= 256:1 1,780 3,700 6,400 10,000
g 320:1 1,600 3,100 5,500 8,800
z 384:1 1,000 2,100 4,500 7,500
512:1 1,000 1,700 3,200 5,000
500:1 1,780 3,700 6,400 10,000
600:1 1,780 3,700 6,400 10,000
720:1 1,780 3,700 6,400 10,000
750:1 1,600 3,100 5,500 8,800
800:1 1,780 3,700 6,400 10,000
4 900:1 1,600 3,100 5,500 8,800
o 1,000:1 1,600 3,100 5,500 8,800
% 1,200:1 1,600 3,100 5,500 8,800
54& 1,536:1 1,780 3,700 6,400 10,000
1,600:1 1,600 3,100 5,500 88,00
1,920:1 1,600 3,100 5,500 88,00
2,048:1 1,780 3,700 6,400 10,000
2,560:1 1,600 3,100 5,500 8,800
3,072:1 1,000 2,100 4,500 7,500
4,096:1 1,000 1,700 3,200 5,000

PF/WPF precision planetary gear boxes technical data %’

PF
wpr 4

17,000

20

16,000
13,000
7,500
17,000
17,000
16,000
16,000
17,000
13,000
16,000
13,000
7,500
17,000
17,000
17,000
17,000
16,000
16,000
17,000
16,000
17,000
16,000
17,000
16,000
13,000
7,500
17,000
17,000
17,000
16,000
17,000
16,000
16,000
16,000
17,000
16,000
16,000
17,000
16,000
13,000
7,500

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will
have confidence each other. We always seek to satisfy our customers. EMAUEBNEEHEER, F2BB5—EER,
(EERRBRMANRERES, SEETEAENGET. EHRELSRFAKENIEX,

& 18




PF/WPF precision planetary gear boxes technical data *

PF/WPF R5If% 1T ER BN 25 4

Type Stage/BISE ER&f

PF PF PF PF PF PF
e 40 60 90 115 140 160
Data #8628 WPF WPF WPF WPF WPF WPF
Maé;él;ép%t?ggue N.m 1.5times TN 1.5{&5EEHLE
RSP | Nm 2times TeN  2fgEREHsE
Frmax.for 10.000h
ExEmA0 N 185 265 400 1,240 2,250 3,700
Famax.for 10.000h
Bx#E ) NN 150 220 420 1,000 1,500 3,500
Tors;oﬁl};lﬂ%%?ldlty arcmln 0.7 1.8 4.8 11 22 35
BABARE P 10,000 8,000 6,000 6,000 4,500 4500
A neod | rpm 4,500 4,000 3,500 3,500 3,000 3,000
Noise PF dB(A) <56 <58 <60 <65 <68 <70
=y WPF <60 <61 <63 <68 <70 <75
Average lifetime
CREES h 20,000
Effelen;cy withfull load n 168 >96% 2 >94% 32 >90%
k= 18 <3 <3 <3 <3
PO g 28 <5 <5 <5 <5
E 3 <7 <7 <7 <7
£ 18 <14 <5 <5 <5 <5 <5
PF | P1 § 28 <16 <7 <7 <7 <7 <7
@ T 3 <18 <9 <9 <9 <9 <9
o =R <20 <14 <8 <8 <8 <8
] P2 § 2B <24 <16 <10 <10 <10 <10
El G 3K <28 <18 <12 <12 <12 <12
< £ 15 <5 <5 <5 <5
& PO § 2m <7 <7 <7 <7
S S | 3K <9 <9 <9 <9
3 £ 1R <16 <7 <7 <7 <7 <7
wpF P1§  om <18 <9 <9 <9 <9 <9
© 38 <20 <11 <11 <11 <11 <11
£ 15 <22 <16 <10 <10 <10 <10
P2 § 2 <26 <18 <12 <12 <12 <12
T 3 <30 <20 <14 <14 <14 <14
3:1 0.031 0.135 0.77 2.63 5.83 12.14
41 0.022 0.093 0.52 1.79 3.21 7.78
& 5:1 0.019 0.078 0.45 1.53 3.10 6.07
Y 0.018 0.075 0.42 1.40 2.85 5.24
8:1 0.017 0.065 0.39 1.30 2.10 4.63
10:1 0.016 0.063 0.39 1.28 1.95 4.60
_ 15:1 0.015 0.039 0.72 2.40 3.35 7.47
(HTVIIMI 20:1 0.007 0.049 0.35 1.60 2.73 6.95
-1 25:1 0.007 0.039 0.25 1.40 2.25 6.65
o8
- B s 0.007 0.038 0.18 1.40 225 5.81
o
© g 40:1 0.005 0.027 0.18 1.30 2.25 5.81
€
0 2 64:1 0.005 0.027 0.16 1.30 2.25 5.28
ks 100:1 0.005 0.025 0.16 1.30 2.25 5.28
& 60:1 0.015 0.039 0.28 1.57 2.87 6.85
é 80:1 0.007 0.039 0.25 1.38 2.25 6.10
100:1 0.007 0.016 0.25 1.35 2.15 5.70
160:1 0.013 0.016 0.18 1.35 2.10 5.55
38 200:1 0.005 0.016 0.18 1.30 2.10 5.32
256:1 0.005 0.016 0.16 1.30 2.10 5.21
320:1 0.005 0.016 0.16 1.25 2.10 5.15
512:1 0.005 0.016 0.16 1.20 2.10 5.15
1,000:1 0.005 0.016 0.16 1.20 2.10 5.10
. 152 0.37 0.93 2.35 6.15 11.30 19.00
o
I PF 28 0.45 1.15 2.70 8.00 13.50 24.00
i i 3 0.55 1.35 3.20 10.00 15.80 29.00
S 16 0.51 1.7 4.4 12 17 26.5
(]
= WPF 2% 0.61 1.9 5.0 14 19 29.6
3 0.71 2.1 515) 16 21 32.6
(1)Means:Allowing radial force and axial force that function in output central place when output speed is 100 rpm. (1) 7E8i H #533 100rpmBE, /£ A F i v L B 2 BRFHEE HFshE 5o
(2)The weight of reducer in this book is approximation,the practical is depend on the finished product. QREHESTERREHMEMEMES L MEREL, ERESEUEYRE,
(3)The moment of inertia relates to the ratio. frame. input shaft and to standard motor shaft . etc. (S)E B EEIURGELL . RIEE NI, MANBEEEBRREH, EREH
EEEEL,

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will
{{.. a 1 9 have confidence each other. We always seek to satisfy our customers.  RMUEHMEEHEER, FLBEBE—EES,
e EERRBI RN RERES, SEBETRAENER. EHRERLRMKIENER,




Type Stage/B!5% ER&
Data tREL &

Max. output torque N
RAfEAHAE :
Emergecy stop N.m
RS AR :

Frmax.for 10.?00h N
gk

Famax.for 10.000h N
ks

Torsional riRgidity _Nm

HnsmE arcmin
Max.input speed -
BxgEg P

Average input speed
BEBMNEE fpm
Noise PF
BRE WPF dB(A)
Average lifetime h
FryEm

Effeiency withfull load
i =

PO
PF Pt
&
o7
o P2
E
e
Ei PO
X
[
8 wpF
P1
P2
D
0
i
i
&
K
T
(o)
£
S
=
(0]
£
(o]
=
_ PF
o
g
]
£
S
()
= WPF

arcmin  arcmin arcmin arcmin | arcmin arcmin| =

kgcm?2

kg

18
28
3
18
28
3§
18
28
3E%
18
28
3E
18
28
3§
1B
28

3

18

28

3B

18
2B
3K
4R
18
2B
3K
4R

PF/WPF precision planetary gear boxes technical data

PF/WPF R3IFE{TEREMIEESH

4:1
5:1
6:1
8:1
16:1
20:1
25:1
32:1
40:1
64:1
80:1
100:1
160:1
200:1
256:1
320:1
512:1

PF

wer 219

13,300
7,500
70
4,000

2,500

<70
<78

<3
<5
<7

<5
<7
<9
<8
<10
<12
<5
<7
<9
<7
<9
<11
<10
<12
<14

23.67
23.29
22.75
20.51
12.35
9.35
9.00
8.75
8.75
8.10
6.92
6.55
6.55
6.55
6.30
6.30
6.30
31.00
42.00
50.00

50
61
70

PF PF
WPF 265 WPF 315
1.5times TN 1.5(%38EH4E
2 times T2N 2fEFEEHE
20,500 24,500
14,000 16,000
115 315
3,500 3,500
2,000 2,000
<70 <72
<80 <81
10,000
15 =96% 28 =94%
<8 <8
<10 <10
<15 <15
<10 <10
<15 <15
<18 <18
<10 <10
<15 <15
<18 <18
<15 <15
<18 <18
<20 <20
32.85 40.2
28.71 39.9
27.03 36.6
25.69 34.5
15.92 19.50
14.35 18.80
12.44 18.30
12.44 16.75
11.35 16.60
11.35 16.60
14.27 17.73
10.31 14.85
9.42 14.50
8.20 13.75
8.20 13.75
8.10 13.25
7.95 10.80
70 113
88 136
96 140
99 148
95 143
103 166
121 170
124 178

(1)Means:Allowing radial force and axial force that function in output central place when output speed is 100 rpm.
(2)The weight of reducer in this book is approximation,the practical is depend on the finished product.

(3)The moment of inertia relates to the ratio, frame. input shaft and to standard motor shaft . etc.

PF
wer360

30,000
22,000
350
3,000

1,500

<75
<83

3 =90%

<8
<10
<15
<10
<15
<18

<10
<15
<18
<15
<18
<20

75.1
73.4
70.9
62.5
24.50
24.00
23.20
23.20
23.20
23.20
24.73
19.75
19.70
18.50
18.50
18.50
15.45
145
190
215
219
185
230
255
259

PF
WPF

420

38,000
28,000
550
3,000

1,500

<75
<85

<8
<10
<15
<10
<15
<18

<10
<15
<18
<15
<18
<20

251.6
243.0
232.4
205.8
56.80
55.30
52.10
52.10
50.09
50.09
40.75
38.60
36.50
32.85
32.85
30.71
28.85
250
340
360
375
300
390
410
425

(1)FR 728 HH #E 100rpms, (£ 3 F 81 O B 2 BRFE R A fnsE 71
(QEEHESSTRERBERBEMESU AL, ERESURNRE,
Q)M EERSTRELL . BB A, MAMTEEHRGEEN, EREDH

mEEEL,

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will
have confidence each other. We always seek to satisfy our customers.

fEERHB R MR RERES, BEEITRAENEE, BHRERRMKENER,

EMUESNEETEER, FEEBS—@EER,

& 20




>
# s

PF40-PF160-OP2 motor mounting dimensions a”

PF40-PF160-0OP2 E$EERI X IMERER T

&
mox?ﬁ’
output i input SHEIREN input SHERIEN
PF40-1601E % BEREXR
Al L3 A2
1 L61 L7 L1
= | Ee
ix
f NS e == TCERE | m-
% g
D1 L51 Ls]
] L4
Other shaft F P A] iS4 A6 L 4B RY
E . S shaft Jt#h S2  shaft with key B &8} S3 splined shaft &4 St  special shaft $5%k#h
5 ; According to customers
gw @ [}L@ @ U@ g ARER
¢=§ ki hollow XM FLisramEss) k2  hollow with key E$##B. ks splined hollow #£8#M7. k¢  special hollow 4% 7L
2 #& i )
::-:;- = ﬁ [b ﬁ 8% ﬁ According to customers
£ T APERHME
o
RESES PF40 PF60 PF90 PF115 PF140 PF160
. RISE B
Size/R 1 2 3 1 2 3 1 2 3 [ 1 2 3 1 2 3 1 2 3
A1 45 60 90 120 145 175
B1 3 5 6 8 10 12
C1 M4X10 M5X10 M6X12 M10X22 M12x25 M12X25
H1 11.2 16 22.5 28 35 43
D1 (0] 50 70 100 130 160 185
E D2 4X ®3.5 ®5.5 6.5 8.5 D11 13
i‘ﬁ D3 ®h6 10 14 20 25 32 40
‘}gﬁ D4 o 12 17 25 35 45 60
2 D5 o®h7 26 40 80 110 120 130
3 D7 40 60 80 115 140 162
L1 15 25 25 40 55 65
L2 25 25 4 5 6 8
L3 23 30 36 50 70 80
L4 26 35 40 55 75 85
L5 2 3 3] 4 5) 5
L7 36.6 50.5 64 443 59 745 60 775 95 655 88 110.5 78 107.5 137 945 133 171
A2 motoriRIEEHL  motortRIBFEHL  motoriRIBFEHNL  motorfRIFEHL  motoriRIFEEHNL  motoriRIFFHL
B2 motortR#FAEHL  motorfRIEEEHL  motoriRIFEHL  motoriRIFEHL  motoriR#EFEHL  motoriRIEFEL
::}_ H2 5 & motoriRIEEHL  motortR#EFEHL  motortR#EFEHL  motoriRIFEEHL  motoriRIEEEHL  motoriRIEFEHL
I]; D11 g f motoriR#EEHL  motoriR#EFEML  motoriR#BFEANL  motoriRIFEEHL  motoriRIBEEML  motoriRIFFEHL
ﬁ D21 ‘;, é motoriR#ZEHL  motoriR#EFEHL  motoriR#EFEHL  motoriRIFEAL  motoriRIEEEAL  motoriRIEFEHL
ﬁ D31 'g g motoriRIEMAL  motortRIBFEMNL  motoriRIBFEHNL  motoriRIFEHL  motoriRIEEEAL  motoriRIFEFHL
v‘g_ D51 < E | motoriR{EMHL  motoriRiEMHL  motoriRIERHL  motoriRIEEHL  motoriRIEEHL  motoriRiEEM
£ L31 motoriR#EEAL  motoriRIEEAL  motoriR#EEAL  motoriR#FEHL  motoriR#FEHNL.  motoriRHEF AL
L51 motoriRIEEHL  motoriRIBFEML  motoriRIBFEHNL  motorfRIFEHL  motoriRIFEEHL  motoriRIFFHL
L61 motoriRIZEHL  motortR#EFEHL  motortR#BFEHL  motoriRIZEHL  motoriRIFEEHL  motoriRIFEFEHL

(iEL2HEAMRERNEEERN ELRTAUEEL
(QELSHIERER NI EERM ELRTATIEEL

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will
have confidence each other. We always seek to satisfy our customers. BRMALEBNEENSER, Z2BBS—EES,
FEERHBB RN REEES, SEBTEEENGEE. EHRERRMKIENEXK.

21




&£
T o
007(\25

output Hith

82 -B1 Ly t? L2 Cf
A LG BB a e o (N [
e 2
L4
Other shaft F P a8 1% A H FR
£ S1 shaft shaft with key B8  S3
e B =
e (P @ = €
3 b
g ki hollow %A oremez hollow with key BE&ZMZL ks
S &
0 -@ A
3
NI PF215 PF265 PF315
Size/R 1 2 3 2 3 4 1 2 S
B1 14 22 25
ci M12X25 M16X35 M16X35
H1 53.5 85 95
D1 [0} 190 225 265
+ D2 12X 12 14 14
;'lé D3  ©h6 50 80 90
J D4 O 70 100 110
€ D5 oh7 160 200 230
é— D7 215 265 315
° L1 70 90 120
L2 5 10 10
L3 80 110 140
L4 95 130 160
L5 10 15 15
L6 17 20 25
L7® 267 325 398 412 432 490 468 549 569
A2 motoriR #E 4L motoriR #E B Hl motoriR #E EB 4l
B2 motoriR 35 4l motortR & #l motoriR #E F#l
517 H2 s motoriR & E 4l motor#R & F motor#R #E FEHl
;'lé D11 gf motoriR #F B 4l motortR#E F 4l motoriR#E B #l
2 D21 X motorig &l motoriR % i il motorif 8 i il
€ D31 58 motorfRiEmm motorfR B4l motoriR iR Al
S D5t 8B  motorERHL  motorRERHL  motorERAL
< | Lad motoriR & F 4l motor iR & FL 41l motoriR #E F 4l
L51 motoriR #E B 4l motor#R #E F motor#R #E B Hl
L61 motoriR #E B #l motor#R #E F motor#R #E B #l
(1)dimensions refer to the mounted motor-type ,the size can be changed (1)iEL
(2)dimensions refer to the frame of the boxes,the size can be changed (2)iEL

PF215-PF420-0OP2 motor mounting dimensions

PF215-PF420-0P2 EiEiZERI X IMERER T

Oinput A

Oinput A

uy@{/‘

splined shaft 7& 4k

splined hollow &K 7L

M16X35
116
300
18
110
125
250
360
150
10
170
195
20
30

525 633 714

motor#R #E B 4l
motor#R & EE Al
motor#R #E FE #l
motor#R #E FE #l
motoriR # B #l
motor#R & FE
motor#R #E B 4l
motor#R & B Al
motor#R #E F Hl
motor#R #E FE #l

%
2HHR

St | special shaft $5%kéH

According to customers

RPEREE
kt  special hollow % 7L

According to customers

AFERFE

PF420
4 1 2 3 4

32
M20X50
127
350
18
120
140
300
420
180
10
210
235
20
30

580 695 803
motor#R #E FB 4l
motor#R & Bl
motor#R #& F #l
motor#R #E F #l
motor#R & Bl
motor#R &l
motor R #E B
motor#R & Bl
motor#R #E F #l
motor#R #E F #l

HHAFME RN RGHMN B RTAIAAEL
LREE N AR EERT TG L

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will
have confidence each other. We always seek to satisfy our customers.

HMUEHNEENCER, FLERET—@EER,

fEERHB R MR RERRES, SEETRAENEE, BHRERRMKENER,

22

k"i'




PF40-PF160-OP1 shaft input mounting dimensions
PF40-PF160-OP1 B NE B! NS RER

output #iH input B
Al L41 L4
L31 L7 L3
b2 Bt 11 L1
| ‘ f L21 L2 C1
c2 i S =] —

D51
D41
D31
o

[

1
D3
D4
D5

L51 = L5

Other shaft Fi PRI Ay H F5 8

E - S shaft Jt#h S2  shaft with key B i##h Ss3 splined shaft &8 St | special shaft 5%k
7]
5 - ; According to customers
g @ [}@ @ APERRIE
¢_§ k1 hollow ¥R ILisrarEz) k2  hollow with key B§#R 7. ks splined hollow #%##MF. ke  special hollow 4§57 7L
-
g 5 )= According to customers
g e ﬂ [b ﬁ 8% ﬁ APRERGE
o
Tvpﬁ%ﬁaﬁgg& PF40 PF60 PF90 PF115 PF140 PF160
Size/ Rt 1 2 3 1 2 3 1 2 3 | 1 2 2 3 1 2 3
A1 45 60 90 120 145 175
B1 3 5 6 8 10 12
C1 M4X1011.2 M5X10 M6X12 M10X22 M12x25 M12X25
H1 50 16 225 28 35 43
D1 0] 3.5 70 100 130 160 185
E D2 4X 10 ®5.5 6.5 8.5 D11 13
IE D3 ®h6 12 14 20 25 32 40
a__a, D4 () 26 17 25 35 45 60
&
% D5 ®h7 40 40 80 110 120 130
*g' D7 15 60 80 115 140 162
°© L1 2.5 25 25 40 55) 65
L2 23 2.5 4 5 6 8
L3 26 30 36 50 70 80
L4 2 35 40 55 75 85
L5 3] & 4 5 5
L7 @ 366 505 64 443 59 745 60 775 95 655 88 1105 78 1075 137 945 133 171
B2 2 3 5 6 8 10
Cc2 M4X10 M4X10 M6X12 M10X20 M10X20 M12X24
H2 8.8 11.2 18 22.5 28.5 38
D11 (0] 34 52 70 100 120 145
%l:\ D21 4% M4X6 M5X8 M6X12 M10X20 M10X20 M10X20
K D31 h7 8 10 16 20 25 35
j2 D41 12 17 25 35 45 50
ﬁ D51 h7 26 40 60 80 100 130
V‘:;; L11 10 15 20 30 35 45
£ L21 3.5 4 3 5 5 5
L31 17 21 26 40 45 58
L41 20 25 30 45 50 65
L51 2 3 3 4 5! 5

HAEREFTAL BB H B B R AT U # 4L
HERIER N AR AR B, B R~ AT A E#4L

(1)dimensions refer to the mounted motor-type ,the size can be changed (1)iEL4
(2)dimensions refer to the frame of the boxes,the size can be changed (2)iEL2

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will
have confidence each other. We always seek to satisfy our customers. EAUEBMNEEREER, FL2EBE—EEMR,
(EERRBRMANEEREN, SEETERENEET. EHRESRMAKIENEX,

& 23




!
4

PF215-PF420-0P1 shaft input mounting dimensions
PF215-PF420-0OP1 B N B! N SME RER

&
S
Soxe®
output i input A
g L41 L7 P
L31 L4
L11 L3
L21 =
G2 Lol L8 |l.u L2 o
| =
BB 2 HTs T —18l3 8 8

: | L5

L1 6 .

Other shaft F P2 R LR

E S1 shaft 3t S2 shaft with key 5 S3 splined shaft & St | special shaft 558
]
%‘_ (- [% : Z According to customers
E ﬁa | (é c ARERHIE
E k1 hollow MBI isrerEss) k2 hollow with key E8#M%. k3 splined hollow {£8#M7.  k:  special hollow 4%l
S
3 _ B = . According to customers
g @ (° % o ARERBIE
=]
Typigaégﬁ PF215 PF265 PF315 PF360 PF420
Size/Rt 1 2 3 4 1 2 3 4 1 2 S 4 1 2 8 4 1 2 8 4
B1 14 22 25 28 32
C1 M12X25 M16X35 M16X35 M16X35 M20X50
H1 53.5 85 95 116 127
D1 o} 190 225 265 300 350
* D2 4x ®12 14 o14 18 ®18
g}lfg‘ D3 h7 50 80 90 110 120
':E D4 70 100 110 125 140
g D5 h7 160 200 230 250 300
%‘ D7 215 265 315 360 420
° o 70 90 120 150 180
L2 5 10 10 10 10
L3 80 110 140 170 210
L4 95 130 160 195 235
L5 10 15 15 20 20
L6 17 20 25 30 30
L7 @ 267 325 398 412 432 490 468 549 569 525 633 714 580 695 803
B2 10 14 10 18 14 (10) 20 18 (14) 22 20 (18)
c2 M12X24 M12X26 M12X26 M16X35 M16X35
H2 41 38 51.5 41 64 51.5 (41) 745 64 (51.5) 85 74.5 (64)
E_'_‘ D11 (0] 155 145 170 155 200 175 (155) 215 200 (170) 250 215 (200)
u; D21  4/8X M12 M12 M12 M16 12 16 M12
¥ b3t 38 35 48 38 60 48 (38) 70 60 (48) 80 70 (60)
fé D41 50 45 60 50 80 60 (50) 85 80 (60) 100 85 (80)
= D51 130 130 150 130 160 150 (130) 180 160 (150)
g_ L11 50 65 50 80 65 (50) 90 80 (65) 110 90 (80)
£ Lo 5 75 5 7.5 10 7.5 10 10 (7.5)
L31 60 80 60 95 80 (60) 110 95 (80) 130 110 (95)
L41 70 90 70 110 110 (70) 125 110 (90) 145 125 (110)
L51 8 8 10 8 10 10 (8) 10
(1)dimensions refer to the mounted motor-type ,the size can be changed (1) EL2HHMAMEEHMNESEEH, ELRTRIINEEML
(2)dimensions refer to the frame of the boxes, the size can be changed (QELSHEFEM N BEEERN, ELR-TAINEEL

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will
have confidence each other. We always seek to satisfy our customers. EAUNEHNEEFEER, #EEBE—EER,
FEERHB RN EEEEN, SUHBIEHEENGEE. EHRERRMKIENEXK.

& 24




L61

Other shaft P A[EiZA0&H HER

5 S1 shaft 3¢
< =
[
=
o
_E ki hollow EAFLstemrEs
° =
=
5
(=]
Type Stage WPF40
. RISK BR8N
Size/R~F 3
A1l 45
B1 3
C1 M4X10
HA1 11.2
D1 (0] 50
E D2 4X D 385
E D3 ®h6 10
H
& D4 @ 12
=
H D5 ®h7 26
3 D7 40
L1 15
L2 2.5
L3 23
L4 26
L5 2
L7 @ 36.6 50.5 64
A2 motoriR #EEEHL
B2 mOtOF*ﬁ*E EE.HL
E-l:- H2 5 &  motoriRIEREM
52 D11 g 1*TE motortR 4 Fa 4l
fz D21 ‘3, ué motortR#EFEHL
— c =
g@ D31 "g E motortRFEEHL
g_ D51 < B motortR#E AL
=
= L31 motoriR #E B Hl
L51 motortR#EFL L
L61 motortR#EFL L

S2

k2

L3
L1
L2 C1
e
— OB 838
L7 L4
L5

shaft with key = {2 S3

g (= @

hollow with key BE&#MF. ks

WPF60
1 2 3
60
5
M5X10
16
70
5.5
14
17
40
60
25
25
30
35
3
443 59 745

motortR #E E 4l
motoriR #E B Hl
motoriR #EEEHL
motortR #EEEHL
motortR FEEHL
motortRFEEEHL
motortR #E E
motortR #E E
motoriR #EEEHL
motortR #EEEHL

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

e = #

WPF90
1 2 3
90
6
M6X12
22.5
100
6.5
20
25
80
80
25
4
36
40
3
60 775 95

motoriR #EF AL
motoriR &l
motoriR #EFE L
motortR & HL
motortRIEEH
motortRIEEH
motoriR #EF AL
motoriR #EFE AL
motortR & HL
motoriR#EFEHL

WPF40-WPF160-0OP2 motor mounting dimensions
WPF40-WPF160-0P2 SR XM RER T

input SHEIREMA input SEREA
PF40-1601& % BERER
D21, B2
gy
f\Q\
{ ‘ Lo
| T
! [T
o £
T
A2
D11

splined shaft £ §#H

splined hollow #&#M 7. ke

WPF115
1 2 3!
120
8
M10X22
28
130
8.5
25
35
110
115
40
5!
50
55
4

R
AP

St

special shaft 45k

According to customers

APERFIE

special hollow %%l

According to customers

BPERTME
WPF140 WPF160
1 2 3 1 2 3
145 175
10 12
M12x25 M12X25
35 43
160 185
11 13
32 40
45 55
120 130
140 162
55 65
6 8
70 80
75 85
5 5

65.5 88 110.5 78 107.5 137 94.5 133 171

motorR#E 4l
motorR#E 4l
motoriR #EELHL
motoriR #EELHL
motortR#EFHL
motortR#FFHL
motoriR #E 4l
motorR#E 4l
motoriR #EELHL
motoriR #EELHL

motortR #E Ll
motoriR #E L4l
motoriR #EELHL
motoriR #EELHL
motortREEHL
motortR#EEHL
motorR #E Ll
motorR#E L #l
motoriR #EELHL
motoriR #EELHL

motortR #E Ll
motortR #E Ll
motoriR #EELHL
motoriR #E L
motortRIEEHL
motortRFEEHL
motortR #E 4l
motortR #E L #l
motortREEHL
motoriR #E L

(NiELLHHAMEERNEEAR ELRTATEEL
(QELSHIRERNAEEAR ELRTAIFEL

& 25

have confidence each other. We always seek to satisfy our customers.

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will

EERHIR MY EERER, BhETEEENEE. BRRERRMKENER,

RAUESMEEHSER, FEERT—@EER,




Other shaft i P A EE R HiER

E S1 shaft 8 Sz  shaft with key Ei
n
e (P @
=
(=]
2 ki hollow hFlutems® ko hollow with key EA.
&
-0 - @
g
Rl e WPF215 WPF265
RISE B8y
Size/RF 1 2 S 4 1 2 3 4
B1 14 22
c1 M12X25 M16X35
H1 53.5 85
DI o 190 225
E D2 12X ®12 o114
£ D3 n7 50 80
==
g D4 60 100
ER 160 200
3 D7 215 265
L1 70 90
L2 5 10
L3 80 110
L4 95 130
L5 10 15
L6 17 20
L7® 267 325 398 412 432 490
A2 motoriR #E EEHl motor#R & B 4l
B2 motoriR #E B Hl motoriR #& B #l
317 H2 sE motoriR #EFE Al motoriR & B #l
E D EE  motoriRiEEH motorif # F#l
o
:'2 D21 'é,jlé_ motoriR #E B motoriR & B #l
F D31 ZTE  motoriRiBEMN motoriR # B 4l
S D51 <®  motoriR#EMAH  motoriRiE il
£ 131 motoriR #E K4l motor#R BB 4l
L51 motoriR #EFE motoriR fEE 41
L61 motoriR #EFE motoriR & B #l

(1)dimensions refer to the mounted motor—type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

D61
D51 L7
3\3 APQL L4

= : L3

8l i) s |l o
Sl R LI
B H L5

e

S3

= €

k3

io

WPF315
1 2 3
25
M16X35
95
265
14
90
110
230
315
120
10
140
160
15
25
468 549 569

motortR & #l
motoriR #& FE #l
motor#R #E F 4l
motoriR #E K #l
motoriR #& B #l
motoriR #E K #l
motortR #E K #l
motortR #E B #l
motoriR #E K #l
motoriR #E K #l

B2
S5

(i
(@)

ﬁr F i

WPF215-WPF420-0OP2 motor mounting dimensions
WPF215-WPF420-0P2 E#HiER XM RERT

Oinput BN

Uinput BN

splined shaft 7 §#H

splined hollow K7L

WPF360
1 2 3
28
M16X35
116
300
18
110
125
250
360
150
10
170
195
20
30
525 633 714

motoriR #E 4l
motortR #& B 4l
motor#R #E B 4l
motoriR #E B 4l
motortR #EE L
motor R #E B 4l
motor#R #&EB
motor#R #E B
motor R #E B 4l
motor R #E B 4l

St

special shaft 5§57k

According to customers

APERHIE

kt  special hollow #%FL

According to customers

APERHE

WPF420
4 1 2 3
32
M20X50
127
350
®18
120
140
300
420
180
10
210
235
20
30
580 695 803
motoriR #EE
motoriR & #l
motor#R #E B 4l
motor#R #E B 4l
motortR #EE 1
motor R #E B 4l
motoriR #& 4l
motoriR #E B 4l
motoriR #EE 1
motor R #E BB 4l

4

HHBEFTEL BB B L R ATIIF L
BRI N AR, B R ATIAA#L

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will

have confidence each other. We always seek to satisfy our customers.

FEERHIRFANRERER, FhETERBEENEE. GBHREREMKENER,

RPUEHNEENSER, FEEBT—EER,

=
&

26




WPF40-WPF160-0P1 shaft input mounting dimensions

%ﬂ
WPF40-WPF160-OP1 i NEH B! R SM R ER

&
5
Soxe
D51
output i DM, | C2 input BN
D31 &l
—
Rk
| )~ L4
5] i
.B1 - | 1l e
e L =
W E] R S = B
' i
‘ =
i 7 &5
Al
Other shaft i P A[EiZA0H HEHER
E shaft Jt#f S2 shaft with key B &#h S3 splined shaft 7t & St | special shaft $§5%&h
&
5 '?’ According to customers
o .
g @ 8:}*@ @ = AAEREHE
)
_E ki hollow kAT srerez k2  hollow with key B$#MF. ks splined hollow ##MKF. ki  special hollow $¥%FL
S &
s, =3 According to customers
g'“ ARERGME
(=]
Typeg?gt;gﬁ;ﬂ WPF40 WPF60 WPF90 WPF115 WPF140 WPF160
Size/R 1 2 3 1 2 3 1 2 3 | 2 3 1 2 8 1 2 S
Al 45 60 90 120 145 175
B1 3 5 6 8 10 12
C1 M4X10 M5X10 M6X12 M10X22 M12x25 M12X25
H1 11.2 16 22.5 28 35 43
D1 ) 50 70 100 130 160 185
E D2 4X O 3.5 5.5 6.5 8.5 11 13
% D3 ®h6 10 14 20 25 32 40
E!_g D4 O] 12 17 25 35 45 60
% D5 ®h7 26 40 80 110 120 130
£ D7 40 60 80 115 140 162
© L1 15 25 25 40 55) 65
L2 25 25 4 5 6 8
L3 23 30 36 50 70 80
L4 26 35 40 55 75 85
L5 2 3 3 4 5) 5
L7®@ 36.6 505 64 443 59 745 60 775 95 655 88 110.5 78 107.5 137 945 133 171
B2 2 & 5) 6 8 10
Cc2 M3X6 M3X6 M6X12 M10X20 M10X20 M10X20
H2 8.8 11.2 18 22.5 28.5 38
S D11 O] 34 52 70 100 120 145
E D21 4x M4X6 M5X8 M6X12 M10X20 M10X20 M10X20
E D31 h7 8 10 16 20 25 35
% D41 12 17 25 35 45 50
5: D51 h7 26 40 60 80 100 130
§- L11 10 15 20 30 35 45
- L21 3.5 4 3 5 5 5
L31 17 21 26 40 45 58
L41 20 25 30 45 50 65
L51 2 3 3 4 5 5
(1)dimensions refer to the mounted motor-type ,the size can be changed (1) B2 AR ETAR B EISRE R B R~ RIAEE1L
(2)dimensions refer to the frame of the boxes,the size can be changed (2B E R RS N EEE TR, EER T ILAEEL

27

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will
have confidence each other. We always seek to satisfy our customers. RMELEMMWEEREER, Z2BBS—EER,
fEERHBI R MM RERRS, BEBTRAENER, EHRESRMKENER,




WPF215-WPF420-0P1 shaft input mounting dimensions
WPF215-WPF420-0OP1 SNSRI RSP R ER

D51 input BN
D41 Cc2
ey L7
D31 ﬁ{
i L4
f sl 52 L3
Lo =L 5‘ L8 | [ 2 cf
o EIRRN i
B/ EONR | -
£ o ST Bl 8
PN
N i >
i il ic: =
‘ L6,| | D11
Other shaft f P A[iE2 A HER
E S shaft 8 S2 shaft with key E S3 splined shaft & §##H St | special shaft ¥§7%##
» B 5
5 - : According to customers
gw (@, [}g (é- U% @ RPERHIE
E ki hollow XA F.sremsz) k2 hollow with key BRI ks  splined hollow M.  kt  special hollow 4§77
2 & 3
g | = According to customers
Ew @ (ﬂ % o ARERHIE
(=]
Type i}gggm WPF215 WPF265 WPF315 WPF360 WPF420
Size/RF 1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4
B1 14 22 25 28 32
C1 M12X25 M16X35 M16X35 M16X35 M20X50
H1 53.5 85 95 116 127
D1 0} 190 225 265 300 350
+ D2 4x 12 14 14 18 ®18
;JI:E‘ D3 h7 50 80 90 110 120
5? D4 70 100 110 125 140
%ﬁ D5 h7 160 200 230 250 300
% D7 215 265 315 360 420
° L1 70 90 120 150 180
L2 5 10 10 10 10
L3 80 110 140 170 210
L4 95 130 160 195 235
L5 10 15 15 20 20
L6 17 20 25 30 30
L7® 267 325 398 412 432 490 468 549 569 525 633 714 580 695 803
B2 10 14 10 18 14 (10) 20 18 (14) 22 20 (18)
c2 M12X26 M12X26 M12X26 M16X35 M16X35
H2 41 38 51.5 41 64 51.5 (41) 74.5 64 (51.5) 85 74.5 (64)
< D11 () 155 145 170 155 200 175 (155) 215 200 (170) 250 215 (200)
E D21 4/8X M12 M12 M12 M16 12 16 M12
¥ D3t 38 35 48 38 60 48 (38) 70 60 (48) 80 70 (60)
% D41 50 45 60 50 80 60 (50) 85 80 (60) 100 85 (80)
= D51 130 130 150 130 160 150 (130) 180 160 (150)
V‘g_ L11 50 65 50 80 65 (50) 90 80 (65) 110 90 (80)
£ L21 5 7.5 5 7.5 10 7.5 10 10 (7.5)
L31 60 80 60 95 80 (60) 110 95 (80) 130 110 (95)
L41 70 90 70 110 110 (70) 125 110 (90) 145 125 (110)
L51 8 8 10 8 10 10 (8) 10

(1)dimensions refer to the mounted motor-type ,the size

(2)dimensions refer to the frame of the boxes,the size can be changed

can be changed 1

We make products devoutly, we hope you recognize our sincere and rigorous approach from each product and we will
have confidence each other. We always seek to satisfy our customers.

EERHIRFAMRERER, FETEEENEE. BHREREMKIENIER,

EALEHMEESER, FEERT—EEmR,

& 28






